# Cisco Lobo Relays Saturday, March 8, 2008

# Varsity Girls

## Points By School

Place	School	Points
1st	Cisco	196
2nd	Eastland	107
3rd	Coleman	85
4th	Gorman	64
5th	Albany	60
6th	Millsap	42
7th	Abilene Christian	20
8th	Baird	16
9th	Coleman Blue	12
10th	Cisco B	5
11th	Breckenridge	0
11th	Early	0
11th	Peaster	0
11th	Winters	0

Completed Events				
100 M Dash	200 M Dash	400 M Dash		
800 M Run	1600 M Run	3200 M Run		
4 x 100 (400 M) Relay	4 x 200 (800 M) Relay	4 x 400 (1600 M) Relay		
100 M Hurdles	300 M Hurdles	Long Jump		
Shot Put	Discus	Triple Jump		
High Jump	Pole Vault			

Incomplete Events
All events are complete

### Lobo Relays Saturday, March 8, 2008

### Meet Results By Division Varsity Girls

### 100 M Dash

#### Place Contestant School Time Abilene Christian 1st Spraggins 13.13 2nd Katie Byers Eastland 13.60 3rd Shelbie DeLeon Coleman 13.74 4th Hudson Albany 13.79 5th Whitney Weikel Cisco B 13.95 6th Presley Albany 14.10

### 1600 M Run

Place	Contestant	School	Time
1st	Nicole Heath	Coleman	6:10.52
2nd	Ana Rodriguez	Cisco	6:13.52
3rd	Cosper	Millsap	6:14.50
4th	Messenger	Eastland	6:15.78
5th	Powell	Gorman	6:24.06
6th	Orduna	Millsap	6:24.87

### 200 M Dash

Place	Contestant	School	Time
1st	Portia Chriesman	Cisco	28.81
2nd	Martika Ybarra	Cisco	29.15
3rd	Jackie Birdwell	Coleman	29.57
4th	Young	Albany	30.00
5th	Amanda Gober	Coleman	31.22
6th	Jesi Davis	Albany	31.30

### 3200 M Run

Place	Contestant	School	Time
1st	Cosper	Millsap	13:50.51
2nd	Bekah Nicks	Cisco	14:07.55
3rd	Audrey Casselberry	Coleman	14:26.69
4th	Heather Leker	Cisco	14:32.94
5th	Liz Robledo	Cisco	14:40.07
6th	Mary Lopez	Cisco	14:55.39

### 400 M Dash

Place	Contestant	School	Time
1st	Barrera	Eastland	1:04.71
2nd	Burnguardner	Albany	1:09.68
3rd	Grard	Millsap	1:11.06
4th	Lindsey Hennington	Cisco	1:11.08
5th	Emily Boetz	Millsap	1:11.68
6th	Whitney Weikel	Cisco B	1:11.88

### 4 x 100 (400 M) Relay

Place	Contestants	School	Time
1st	C#1 CI#2 CI#3 CI#4	Cisco	52,91
2nd	Go#1 Go#2 Go#3 Go#4	Gorman	53.63
3rd	A#1 A#2 A#3 A#4	Albany	53.82
4th	Co#1 Co#2 Co#3 Co#4	Coleman	54.12
5th	Ea#1 Ea#2 Ea#3 Ea#4	Eastland	54.48
<del>6</del> th	AC#1 AC#2 AC#3 AC#4	Abilene Christian	55.06

### 800 M Run

Place	Contestant	School	Time
1st	Brandy Carlton	Gorman	2:40.90
2nd	Nicole Heath	Coleman	2:42.13
3rd	Меssenger	Eastland	2:42.72
4th	Bumguardner	Albany	2:44.27
5th	Ana Rodríguez	Cisco	2:47.19
6th	Orduna	Millsap	2:48.38

# Lobo Relays Saturday, March 8, 2008

# Meet Results By Division Varsity Girls (Continued...)

### 4 x 200 (800 M) Relay

4 x 200 (800 M) Relay			
Place	Contestants	School	Time
1st	C#5 C#6 C#7 C#8	Cisco	1:54.66
2nd	Go#5 Go#6 Go#7 Go#8	Gorman	1:56.29
3rd	Ea#6 Ea#6 Ea#7 Ea#8	Eastland	1:57.44
4th	AC#5 AC#6 AC#7 AC#8	Abilene Christian	1:58.05
5th	Co#5 Co#6 Co#7 Co#8	Coleman	1:58.82
6th	Al#5 Al#6 Al#7 Al#8	Albany	1:59.25

### 4 x 400 (1600 M) Relay

Place	Contestants	School	Time
1st	Go#9 Go#10 Go#11 Go#12	Gorman	4:26.34
2nd	Ea#9 Ea#10 Ea#11 Ea#12	Eastland	4:27.63
3rd	Al#9 Al#10 Al#11 Al#12	Albany	4:33.60
4th	Co#9 Co#10 Co#11 Co#12	Coleman	4:33.75
5th	C讲9 C讲10 C讲11 C讲12	Cisco	4:35.00
6th	CB#1 CB#2 CB#3 CB#4	Coleman Blue	4:59.41

### 100 M Hurdles

Place	Contestant	School	Time
1st	Brooke Witt	Cisco	17.17
2nd	Kalyn Williamson	Eastland	17.40
3rd	Dylan Buzzard	Coleman	18.00
4th	Jessica Friend	Cisco	18.28
5th	Katie Byers	Eastland	18.31
6th	Sadie Pttman	Cisco	20.34

### 300 M Hurdles

Place	Contestant	School	Time
1st	Viertel	Albany	49.94
2nd	Brooke Witt	Cisco	52.97
3rd	Katie Byers	Eastland	55.58
4th	Audrey Casselberry	Coleman	56.83
5th	Jessica Friend	Cisco	57.75
6th	Simmel	Eastland	1:00.11

### Long Jump

Place	Contestant	School	Distance
1st	Volpitta	Eastland	14'-10"
2nd	Kalyn Williamson	Eastland	14'-9 1/2"
3rd	Portia Chriesman	Cisco	14'-8 1/2"
4th	Dylan Buzzard	Coleman	14'-8"
5th	Jaryn Koenig	Cisco	14'-7 1/2"
6th	Whitney Weikel	Cisco B	14'-2 1/2"

### Shot Put

Place	Contestant	School	Distance
1st	Kriston Burns	Baird	34'-2 1/2"
2nd	Candace Fisher	Cisco	34'-1 3/4"
3rd	Ashlee Wainscott	Cisco	30'-1"
4th	Capri Berry	Cisco	29'-9 1/2"
5th	Tiffani Baker	Coleman	29'-3 1/4"
6th	Rene Salas	Coleman	28'-0 1/2"

# Lobo Relays Saturday, March 8, 2008

# Meet Results By Division Varsity Girls (Continued...)

### Discus

Place	Contestant	School	Distance
1st	Emily Edwards	Cisco	119'-1"
2nd	Ashley Bradshaw	Millsap	90'-7"
3rd	Kriston Burns	Baird	88'-6"
4th	Brianna Cantrell	Cisco	86'-8"
5th	Tifani Baker	Coleman	83'-10"
6th	Chelsea Ensor	Eastland	79'-2''

### Triple Jump

Place	Contestant	School	Distance
1st	Kalyn Williamson	Eastland	34'-3 1/2"
2nd	Portia Chriesman	Cisco	34'-0"
3rd	Brooke Witt	Cisco	31'-8"
4th	Jaryn Koenig	Cisco	30'-1 1/2"
5th	Kay Waller	Albany	29'-7 1/2"
6th	Whitney Weikel	Cisco B	29'-5"

### High Jump

Place	Contestant	School	Height
1st	Erin Strickand	Coleman Blue	4'-8"
2nd	Emily Boetz	Millsap	4'-6"
3rd	Jackie Birdwell	Coleman	4'-6"
4th	Brooke Witt	Cisco	4'-6"
5th	Amanda Gober	Coleman	4'-6"
6th	Volpitta	Eastland	4'-4"

### Pole Vault

Place	Contestant	School	Height
1st	Sundae Starr	Cisco	8'-0"
1st	Jessica Friend	Cisco	8'-0"